

TOEPLITZ DETERMINANTS FOR λ -PSEUDO-STARLIKE FUNCTIONS

MURAT ÇAĞLAR, ISMAILA O. IBRAHIM, TIMILEHIN GIDEON SHABA,
AND ABBAS KAREEM WANAS

ABSTRACT. In this article, by making use of the λ -pseudo-starlike functions, we introduce a certain family of normalized analytic functions in the open unit disk U and we establish coefficient estimates for the first four determinants of the Toeplitz matrices $T_2(2)$, $T_2(3)$, $T_3(2)$ and $T_3(1)$ for the functions belonging to this family. Further, some known and new results which follow as special cases of our results are also mentioned.

1. Introduction

Let \mathcal{A} stand for the family of functions f of the form:

$$(1) \quad f(z) = z + \sum_{n=2}^{\infty} a_n z^n,$$

which are analytic in the open unit disk $U = \{z \in \mathbb{C} : |z| < 1\}$. Let \mathcal{S} indicate the class of all functions in \mathcal{A} which are univalent in U .

Babalola [2] defined the family \mathcal{L}_λ of λ -pseudo-starlike functions as follows:

Definition ([2]). Let $f \in \mathcal{A}$. Suppose that $\lambda \geq 1$. A function f belongs to the family \mathcal{L}_λ of λ -pseudo-starlike functions in U if and only if

$$\operatorname{Re} \left\{ \frac{z (f'(z))^\lambda}{f(z)} \right\} > 0, \quad (z \in U).$$

In particular, if $\lambda = 1$, we have \mathcal{S}^* which in this context are called as starlike functions. This subclass was recently studied by [4], [5] and [9].

In the univalent function theory, an extensive focus has been given to estimate the bounds of Hankel matrices. Hankel matrices and determinants play an important role in several branches of mathematics and have many applications [11]. Toeplitz determinants are closely related to Hankel determinants. Hankel matrices have constant entries along the reverse diagonal, whereas Toeplitz

Received August 19, 2022; Revised September 15, 2023; Accepted March 21, 2024.

2020 *Mathematics Subject Classification.* 30C20, 30C45.

Key words and phrases. Univalent functions, λ -pseudo-starlike functions, coefficient estimates, Toeplitz matrices.

matrices have constant entries along the diagonal. Recently, Ali et al. [1] introduced the symmetric Toeplitz determinant $T_q(n)$ for $f \in \mathcal{A}$, defined by

$$T_q(n) = \begin{vmatrix} a_n & a_{n+1} & \cdots & a_{n+q-1} \\ a_{n+1} & a_n & \cdots & a_{n+q-2} \\ \vdots & \vdots & \ddots & \vdots \\ a_{n+q-1} & a_{n+q-2} & \cdots & a_n \end{vmatrix},$$

where $n \geq 1$, $q \geq 1$ and $a_1 = 1$. In particular,

$$T_2(2) = \begin{vmatrix} a_2 & a_3 \\ a_3 & a_2 \end{vmatrix}, \quad T_2(3) = \begin{vmatrix} a_3 & a_4 \\ a_4 & a_3 \end{vmatrix},$$

and

$$T_3(1) = \begin{vmatrix} 1 & a_2 & a_3 \\ a_2 & 1 & a_2 \\ a_3 & a_2 & 1 \end{vmatrix}, \quad T_3(2) = \begin{vmatrix} a_2 & a_3 & a_4 \\ a_3 & a_2 & a_3 \\ a_4 & a_3 & a_2 \end{vmatrix}.$$

The concept of Toeplitz matrices plays an important role in functional analysis, applied mathematics as well as in physics and technical sciences (for more details see [11]). Very recently, several authors established estimates of the Toeplitz determinant $|T_q(n)|$ for functions belonging to various families of univalent functions (see, for example, [1, 7, 8, 10]).

To derive the desired bounds in our study, we shall require the following lemmas. Let \mathcal{P} denote the class of analytic functions of the form $p(z) = 1 + p_1z + p_2z^2 + p_3z^3 + \cdots$ with $p(0) = 1$ and $\operatorname{Re}\{p(z)\} > 0$ ($z \in U$).

Lemma 1.1 ([6]). *If the function $p \in \mathcal{P}$ is given by the series $p(z) = 1 + p_1z + p_2z^2 + p_3z^3 + \cdots$, then the sharp estimate $|p_k| \leq 2$ ($k = 1, 2, 3, \dots$) holds.*

Lemma 1.2 ([3]). *If the function $p \in \mathcal{P}$, then*

$$2p_2 = p_1^2 + (4 - p_1^2)x,$$

$$4p_3 = p_1^3 + 2p_1(4 - p_1^2)x - p_1(4 - p_1^2)x^2 + 2(4 - p_1^2)(1 - |x|^2)z$$

for some x, z with $|x| \leq 1$ and $|z| \leq 1$.

2. Main results

We begin this section by defining the family \mathcal{L}_λ as follows:

Definition ([2]). A function $f \in \mathcal{A}$ is said to be in the family \mathcal{L}_λ ($\lambda \geq 1$) if it satisfies the condition:

$$\operatorname{Re} \left\{ \frac{z(f'(z))^\lambda}{f(z)} \right\} > 0, \quad (z \in U).$$

Theorem 2.1. *Let $f \in \mathcal{L}_\lambda$ be given by (1). Then*

$$|a_2| \leq \frac{2}{B},$$

$$|a_3| \leq \frac{2}{C} + \frac{4|N|}{CB^2}$$

and

$$|a_4| \leq \frac{2}{A} + \frac{4|E|}{BCA} + \frac{8M}{3B^3CA},$$

where

$$(2) \quad \begin{aligned} A &= 4\lambda - 1, \quad B = 2\lambda - 1, \quad C = 3\lambda - 1, \\ E &= 6\lambda^2 - 11\lambda + 2, \quad N = 2\lambda^2 - 4\lambda + 1, \\ M &= 24\lambda^4 - 80\lambda^3 + 84\lambda^2 - 28\lambda + 3. \end{aligned}$$

Proof. For the function $f \in \mathcal{L}_\lambda$ given by (1), we know that there exists an analytic function $p \in \mathcal{P}$ in the unit disk U with $p(0) = 1$ and $Re \{p(z)\} > 0$ such that

$$(3) \quad z (f'(z))^\lambda = f(z)p(z), \quad (z \in U).$$

where p has the following series representations:

$$p(z) = 1 + p_1z + p_2z^2 + p_3z^3 + \dots$$

By elementary calculations, we have

$$\begin{aligned} & z(1 + 2a_2z + 3a_3z^2 + 4a_4z^3 + \dots)^\lambda \\ &= (z + a_2z^2 + a_3z^3 + a_4z^4 + \dots)(1 + p_1z + p_2z^2 + p_3z^3 + \dots) \end{aligned}$$

and

$$(4) \quad \begin{aligned} & z + 2\lambda a_2z^2 + [3\lambda a_3 + 2\lambda(\lambda - 1)a_2^2]z^3 \\ &+ \left[4\lambda a_4 + 6\lambda(\lambda - 1)a_2a_3 + \frac{4\lambda(\lambda - 1)(\lambda - 2)}{3}a_2^3 \right]z^4 + \dots \\ &= z + (p_1 + a_2)z^2 + (p_2 + p_1a_2 + a_3)z^3 + (p_3 + p_2a_2 + p_1a_3 + a_4)z^4 + \dots \end{aligned}$$

By equating the coefficients in (4), we have the relations

$$(5) \quad a_2 = \frac{1}{B}p_2,$$

$$(6) \quad a_3 = \frac{1}{C}p_2 - \frac{N}{CB^2}p_1^2$$

and

$$(7) \quad a_4 = \frac{1}{A}p_3 - \frac{E}{BCA}p_1p_2 + \frac{M}{3B^3CA}p_1^3$$

and by applying Lemma 1.1, we get

$$\begin{aligned} |a_2| &\leq \frac{2}{B}, \\ |a_3| &\leq \frac{2}{C} + \frac{4|N|}{CB^2} \end{aligned}$$

and

$$|a_4| \leq \frac{2}{A} + \frac{4|E|}{BCA} + \frac{8M}{3B^3CA},$$

where

$$\begin{aligned} A &= 4\lambda - 1, \quad B = 2\lambda - 1, \quad C = 3\lambda - 1, \\ E &= 6\lambda^2 - 11\lambda + 2, \quad N = 2\lambda^2 - 4\lambda + 1, \\ M &= 24\lambda^4 - 80\lambda^3 + 84\lambda^2 - 28\lambda + 3. \end{aligned} \quad \square$$

Theorem 2.2. *Let $f \in \mathcal{L}_\lambda$ be given by (1). Then*

$$(8) \quad |T_2(2)| \leq \frac{4(B^4 - 4B^2N + 4N^2)}{B^4C^2} - \frac{4}{B^2},$$

where

$$B = 2\lambda - 1, \quad N = 2\lambda^2 - 4\lambda + 1.$$

Proof. In view of (5), (6) and (2), it easy to see that

$$\begin{aligned} |T_2(2)| &= |a_3^2 - a_2^2| \\ &= \left| \frac{p_2^2}{C^2} - \frac{2Np_1^2p_2}{C^2B^2} + \frac{N^2p_1^4}{C^2B^4} - \frac{p_1^2}{B^2} \right|. \end{aligned}$$

By applying Lemma 1.2 to express p_2 in terms p_1 , it follows that

$$\begin{aligned} &|a_3^2 - a_2^2| \\ &= \left| \frac{(B^4 - 4B^2N + 4N^2)p_1^4}{4B^4C^2} - \frac{p_1^2}{B^2} + \frac{(B^2 - 2N)p_1^2x(4 - p_1^2)}{2B^2C^2} + \frac{x^2(4 - p_1^2)^2}{4C^2} \right|. \end{aligned}$$

For convenience of notation, we choose $p_1 = p$ and since the function p is in the family \mathcal{P} simultaneously, we can suppose without loss of generality that $p \in [0, 2]$. Thus, by applying the triangle inequality with $P = 4 - p^2$, we deduce that

$$\begin{aligned} |a_3^2 - a_2^2| &\leq \left| \frac{(B^4 - 4B^2N + 4N^2)p^4}{4B^4C^2} - \frac{p^2}{B^2} \right| + \frac{(B^2 - 2N)c^2|x|P}{2B^2C^2} + \frac{|x|^2P^2}{4C^2} \\ &=: F(p, |x|). \end{aligned}$$

It is obvious that $F'(p, |x|) > 0$ on $[0, 1]$ and thus $F(p, |x|) \leq F(p, |1|)$.

Trivially when $p = 2$, we note that the expression $F(|x|)$ has a maximum value on $[0, 2]$. Consequently

$$|T_2(2)| = |a_3^2 - a_2^2| \leq \frac{4(B^4 - 4B^2N + 4N^2)}{B^4C^2} - \frac{4}{B^2}.$$

This concludes the proof. □

Theorem 2.3. *Let $f \in \mathcal{L}_\lambda$ be given by (1). Then*

$$|T_2(3)| = |a_4^2 - a_3^2| \leq \frac{4\Omega_1}{9A^2B^6C^2} - \frac{4(B^4 - 4B^2N + 4N^2)}{B^4C^2},$$

where

$$\begin{aligned}
 \Omega_1 &= 9B^6C^2 - 36B^5CE + 24B^3CM + 36B^4E^2 + 16M^2 - 48B^2EM, \\
 \Omega_2 &= 3B^4C^2 - 9B^3CE + 4BCM + 6B^2E^2 - 4EM, \\
 \Omega_3 &= 3B^3C - 6B^2E + 4M, \\
 \Omega_4 &= B^2C^2 - 2BCE + E^2.
 \end{aligned}
 \tag{9}$$

Proof. Applying (6), (7), (2) and using Lemma 1.2, we have

$$\begin{aligned}
 |a_4^2 - a_3^2| &= \left| \frac{(B^4 - 4B^2N + 4N^2)p_1^4}{4B^4C^2} + \frac{\Omega_1 p_1^6}{144A^2B^6C^2} - \frac{(B^2 - 2N)p_1^2x(4 - p_1^2)}{2B^2C^2} \right. \\
 &\quad + \frac{\Omega_2 p_1^4(4 - p_1^2)x}{12A^2B^4C^2} - \frac{\Omega_3 p_1^4(4 - p_1^2)x^2}{24A^2B^3C} - \frac{x^2(4 - p_1^2)^2}{4C^2} \\
 &\quad + \frac{\Omega_4 p_1^2(4 - p_1^2)^2x^2}{4A^2B^2C^2} - \frac{(BC - E)p_1^2(4 - p_1^2)^2x^3}{4A^2BC} + \frac{p_1^2(4 - p_1^2)^2x^4}{16A^2} \\
 &\quad + \frac{\Omega_3 p_1^3(4 - p_1^2)(1 - |x|^2)z}{12A^2B^3C} + \frac{(BC - E)p_1(4 - p_1^2)^2(1 - |x|^2)xz}{2A^2BC} \\
 &\quad \left. - \frac{p_1(4 - p_1^2)^2(1 - |x|^2)x^2z}{4A^2} + \frac{(4 - p_1^2)^2(1 - |x|^2)^2z^2}{4A^2} \right|.
 \end{aligned}$$

We select $p_1 = p$ for ease of notation, and because the function p is in the family \mathcal{P} at the same time, we may assume that $p \in [0, 2]$ without losing generality. As a result, using the triangle inequality with $P = 4 - r^2$ and $Z = (1 - |x|^2)$, we may conclude

$$\begin{aligned}
 |a_4^2 - a_3^2| &= \left| \frac{\Omega_1 p^6}{144A^2B^6C^2} - \frac{(B^4 - 4B^2N + 4N^2)p^4}{4B^4C^2} \right| + \frac{(B^2 - 2N)p^2|x|P}{2B^2C^2} \\
 &\quad + \frac{\Omega_2 p^4 P|x|}{12A^2B^4C^2} + \frac{\Omega_3 p^4 P|x|^2}{24A^2B^3C} + \frac{|x|^2 P^2}{4C^2} + \frac{\Omega_4 p^2 P^2|x|^2}{4A^2B^2C^2} \\
 &\quad + \frac{(BC - E)p^2 P^2|x|^3}{4A^2BC} + \frac{p^2 P^2|x|^4}{16A^2} + \frac{\Omega_3 p^3 PZ}{12A^2B^3C} \\
 &\quad + \frac{(BC - E)p|x|P^2Z}{2A^2BC} + \frac{p|x|^2 P^2Z}{4A^2} + \frac{P^2 Z^2}{4A^2} \\
 &=: F_1(p, |x|).
 \end{aligned}$$

Using elementary calculus to differentiate $F_1(p, |x|)$ w.r.t. $|x|$, we have

$$\begin{aligned}
 &\frac{\partial F_1(p, |x|)}{\partial |x|} \\
 &= \frac{(B^2 - 2N)p^2(4 - p^2)}{2B^2C^2} + \frac{\Omega_2 p^4(4 - p^2)}{12A^2B^4C^2} - \frac{2\Omega_3 p^3(4 - p^2)|x|}{12A^2B^3C} \\
 &\quad + \frac{\Omega_3 p^4(4 - p^2)|x|}{12A^2B^3C} + \frac{\Omega_4 p^2(4 - p^2)^2|x|}{2A^2B^2C^2} - \frac{p(BC - E)(4 - p^2)^2|x|^2}{A^2BC}
 \end{aligned}$$

$$\begin{aligned}
 &+ \frac{3(BC - E)p^2(4 - p^2)^2|x|^2}{4A^2BC} - \frac{p(4 - p^2)^2|x|^3}{2A^2} + \frac{p^2(4 - p^2)^2|x|^3}{4A^2} \\
 &+ \frac{(BC - E)p(4 - p^2)^2(1 - |x|^2)}{2A^2BC} - \frac{|x|(4 - p^2)^2(1 - |x|^2)}{A^2} \\
 &+ \frac{p|x|(4 - p^2)^2(1 - |x|^2)}{2A^2}.
 \end{aligned}$$

It is shown that $(\partial F_1(p, |x|)/\partial |x|) \geq 0$ for $|x| \in [0, 1]$ and fixed $p \in [0, 2]$. As a result, $F_1(p, |x|)$ is an increasing function of $|x|$. So, $F_1(p, |x|) \leq F_1(p, |1|)$. Therefore,

$$\begin{aligned}
 |a_4^2 - a_3^2| \leq &\left| \frac{\Omega_1 p^6}{144A^2 B^6 C^2} - \frac{(B^4 - 4B^2 N + 4N^2)p^4}{4B^4 C^2} \right| + \frac{(B^2 - 2N)p^2(4 - p^2)}{2B^2 C^2} \\
 &+ \frac{(4 - p^2)^2}{4C^2} + \frac{(2\Omega_2 + \Omega_3 BC)p^4(4 - p^2)}{24A^2 B^4 C^2} \\
 &+ \frac{(4\Omega_4 + 4(BC - E)BC + B^2 C^2)p^2(4 - p^2)^2}{16A^2 B^2 C^2}.
 \end{aligned}$$

Now, on $[0, 2]$ at $p = 2$, we have

$$|a_4^2 - a_3^2| \leq \frac{4\Omega_1}{9A^2 B^6 C^2} - \frac{4(B^4 - 4B^2 N + 4N^2)}{B^4 C^2}. \quad \square$$

Theorem 2.4. *Let $f \in \mathcal{L}_\lambda$ be given by (1). Then*

$$\begin{aligned}
 |T_3(2)| &= |(a_2 - a_4)(a_2^2 - 2a_3^2 + a_2 a_4)| \\
 (10) \quad &\leq \left[\frac{2}{B} - \frac{8(3B^2 C - 6BE + 4M)p^3}{12AB^2 C} \right] \left[\frac{4}{B^2} - \frac{4\Omega_5}{3B^4 C^2 A} \right],
 \end{aligned}$$

where

$$\begin{aligned}
 (11) \quad \Omega_5 &= 6A(B^4 - 4B^2 N + 4N^2) - 3B^2 C(BC - 2E) - 4CM, \\
 \Omega_6 &= 2A(B^2 - 2N) - BC^2 + CE.
 \end{aligned}$$

Proof. From (5), (7), (2) and applying Lemma 1.2, we have

$$\begin{aligned}
 |a_2 - a_4| &= \left| \frac{p_1}{B} - \frac{p_1^3}{4A} - \frac{p_1(4 - p_1^2)x}{2A} + \frac{p_1(4 - p_1^2)x^2}{4A} - \frac{(4 - p_1^2)(1 - |x|^2)z}{2A} \right. \\
 &\quad \left. + \frac{Ep_1^3}{2BCA} + \frac{Ep_1(4 - p_1^2)x}{2BCA} - \frac{Mp_1^3}{3B^2 CA} \right|.
 \end{aligned}$$

Applying triangle inequality and $p_1 = p$, we have

$$\begin{aligned}
 |a_2 - a_4| \leq &\left| \frac{p}{B} - \frac{(3B^2 C - 6BE + 4M)p^3}{12AB^2 C} \right| + \frac{p(BC - E)|x|P}{BC} \\
 &+ \frac{p|x|^2 P}{4A} + \frac{PZ}{2A} + \frac{Ep|x|P}{2BCA}.
 \end{aligned}$$

Using the same methods as Theorem 2.2 and 2.3, we have

$$(12) \quad |a_2 - a_4| \leq \frac{2}{B} - \frac{8(3B^2C - 6BE + 4M)p^3}{12AB^2C}.$$

Also, using (5), (6), (7) and (2), applying Lemma 1.2 and taking $p_1 = p \in [0, 2]$, we have

$$\begin{aligned} |a_2^2 - 2a_3^2 + a_2a_4| \leq & \left| \frac{p^2}{B^2} - \frac{\Omega_5 p^4}{12B^4C^2A} \right| + \frac{\Omega_6 p^2(4 - p^2)|x|}{2B^2C^2A} + \frac{p^2(4 - p^2)|x|^2}{4BA} \\ & + \frac{(4 - p^2)^2|x|^2}{2C^2} + \frac{p(4 - p^2)(1 - |x|^2)}{2BA} := F_2(p, |x|). \end{aligned}$$

On the closed area $[0, 2] \times [0, 1]$, we need to find the maximum value of $F_2(p, |x|)$. Assume that a maximum of $[0, 2] \times [0, 1]$ exists at an interior point $(p_0, |x|)$. After that, by differentiating $F_2(p, |x|)$ w.r.t $|x|$, we have

$$\frac{\partial F_2(p, |x|)}{\partial |x|} = \frac{\Omega_6 p^2(4 - p^2)}{2B^2C^2A} + \frac{p^2(4 - p^2)|x|}{2BA} + \frac{(4 - p^2)^2|x|}{C^2} - \frac{p(4 - p^2)|x|}{BA}.$$

If $p = 0$,

$$F_2(0, |x|) = \frac{8}{C^2}|x|^2 \leq \frac{8}{C^2}.$$

If $p = 2$,

$$F_2(2, |x|) = \frac{4}{B^2} - \frac{4\Omega_5}{3B^4C^2A}.$$

If $|x| = 0$,

$$F_2(p, 0) = \left| \frac{p^2}{B^2} - \frac{\Omega_5 p^4}{12B^4C^2A} \right| + \frac{p(4 - p^2)}{2BA},$$

which has the highest possible value

$$\frac{4}{B^2} - \frac{4\Omega_5}{3B^4C^2A}$$

on $[0, 2]$. Also, if $|x| = 1$, we have

$$F_2(p, 1) = \left| \frac{p^2}{B^2} - \frac{\Omega_5 p^4}{12B^4C^2A} \right| + \frac{(2\Omega_6 + BC^2)p^2(4 - p^2)}{4B^2C^2A} + \frac{(4 - p^2)^2}{2C^2},$$

which has the highest possible value

$$\frac{4}{B^2} - \frac{4\Omega_5}{3B^4C^2A}$$

on $[0, 2]$. So,

$$\begin{aligned} |T_3(2)| &= |(a_2 - a_4)(a_2^2 - 2a_3^2 + a_2a_4)| \\ &\leq \left[\frac{2}{B} - \frac{8(3B^2C - 6BE + 4M)p^3}{12AB^2C} \right] \left[\frac{4}{B^2} - \frac{4\Omega_5}{3B^4C^2A} \right]. \quad \square \end{aligned}$$

Theorem 2.5. *Let $f \in \mathcal{L}_\lambda$ be given by (1). Then*

$$(13) \quad |T_3(1)| = |1 + 2a_2^2(a_3 - 1) - a_3^2| \leq 1 + \frac{4\Omega_7}{B^4C^2} - \frac{8}{B^2},$$

where

$$(14) \quad \Omega_7 = 4B^3C - 8CN - B^4 + 4B^2N - 4N^2.$$

Proof. From (5), (6), and (2), applying Lemma 1.2 and some calculations, we have

$$|T_3(1)| = \left| 1 + \frac{p_1^4}{BC} + \frac{p_1^2x(4-p_1^2)}{BC} - \frac{2Np_1^4}{B^4C} - \frac{2p_1^2}{B^2} - \frac{(B^4 - 4B^2N + 4N^2)p_1^4}{4B^4C^2} - \frac{(B^2 - 2N)p_1^2x(4-p_1^2)}{2B^2C^2} - \frac{x^2(4-p_1^2)^2}{4C^2} \right|.$$

We select $p_1 = p$ for ease of notation, and because the function p is in the family \mathcal{P} at the same time, we may assume that $p \in [0, 2]$ without losing generality. As a result, using the triangle inequality with $p = 4 - r^2$, we have

$$|T_3(1)| \leq \left| 1 + \frac{\Omega_7 p^4}{4B^4C^2} - \frac{2p^2}{B^2} \right| + \frac{(B^2 - 2N)p^2(4-p^2)}{2B^2C^2} + \frac{(4-p^2)^2}{4C^2}.$$

Hence, at $p = 2$, we have

$$|T_3(1)| \leq 1 + \frac{4\Omega_7}{B^4C^2} - \frac{8}{B^2}. \quad \square$$

Acknowledgements. The authors would like to express their sincerest thanks to the referees for their valuable comments and various useful suggestions.

References

- [1] M. F. Ali, D. K. Thomas, A. Vasudevarao, *Toeplitz determinants whose elements are the coefficients of analytic and univalent functions*, Bull. Aust. Math. Soc. **97** (2018), no. 2, 253–264. <https://doi.org/10.1017/S0004972717001174>
- [2] K. O. Babalola, *On λ -pseudo-starlike functions*, J. Class. Anal. **3** (2013), no. 2, 137–147. <https://doi.org/10.7153/jca-03-12>
- [3] U. Grenander and G. Szegő, *Toeplitz Forms and Their Applications*, California Monographs in Mathematical Sciences, Univ. California Press, Berkeley, 1958. <https://doi.org/10.1525/9780520355408>
- [4] T. Janani and G. Murugusundaramoorthy, *Zalcman functional for class of λ -pseudo starlike functions associated with sigmoid function*, Bull. Transilv. Univ. Braşov Ser. III **11(60)** (2018), no. 1, 77–84.
- [5] G. Murugusundaramoorthy and T. Janani, *Sigmoid function in the space of univalent λ -pseudo starlike functions*, Internat. J. Pure Appl. Math. **101** (2015), no. 1, 33–41.
- [6] C. Pommerenke, *Univalent Functions*, Studia Mathematica/Mathematische Lehrbücher, Band XXV, Vandenhoeck & Ruprecht, Göttingen, 1975.
- [7] V. Radhika, J. M. Jahangiri, S. Sivasubramanian, and G. Murugusundaramoorthy, *Toeplitz matrices whose elements are coefficients of Bazilevič functions*, Open Math. **16** (2018), no. 1, 1161–1169. <https://doi.org/10.1515/math-2018-0093>

- [8] V. Radhika, S. Sivasubramanian, G. Murugusundaramoorthy, and J. M. Jahangiri, *Toeplitz matrices whose elements are the coefficients of functions with bounded boundary rotation*, J. Complex Anal. **2016**, Art. ID 4960704, 4 pp. <https://doi.org/10.1155/2016/4960704>
- [9] J. Sokół, G. Murugusundaramoorthy, and K. Vijaya, *On λ -pseudo starlike functions associated with vertical strip domain*, Asian-Eur. J. Math. **16** (2023), no. 8, Paper No. 2350135, 11 pp. <https://doi.org/10.1142/S1793557123501358>
- [10] H. M. Srivastava, Q. Z. Ahmad, N. Khan, N. Khan, and B. Khan, *Hankel and Toeplitz determinants for a subclass of q -starlike functions associated with a general conic domain*, Mathematics **7** (2019), no. 181, 1–15. <https://doi.org/10.3390/math7020181>
- [11] K. Ye and L.-H. Lim, *Every matrix is a product of Toeplitz matrices*, Found. Comput. Math. **16** (2016), no. 3, 577–598. <https://doi.org/10.1007/s10208-015-9254-z>

MURAT ÇAĞLAR
DEPARTMENT OF MATHEMATICS
FACULTY OF SCIENCE
ERZURUM TECHNICAL UNIVERSITY
YAKUTIYE 25100, TÜRKIYE
Email address: murat.caglar@erzurum.edu.tr, mcaglar25@gmail.com

ISMAILA O. IBRAHIM
DEPARTMENT OF PHYSICAL SCIENCES
LANDMARK UNIVERSITY
OMU-ARAN 251103, NIGERIA
Email address: ibrahimismailaomeiza@gmail.com

TIMILEHIN GIDEON SHABA
DEPARTMENT OF APPLIED MATHEMATICS
HANYANG UNIVERSITY
ANSAN 15588, KOREA
Email address: shabatimilehin@gmail.com

ABBAS KAREEM WANAS
DEPARTMENT OF MATHEMATICS
COLLEGE OF SCIENCE
UNIVERSITY OF AL-QADISIYAH
AL DIWANIYAH, AL-QADISIYAH, IRAQ
Email address: abbas.kareem.w@qu.edu.iq